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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 477 59.50 | =hLst | 000 ~ o000 1.73 8.77 st 1.00 | 6.00 ~ 5.00 59.50 | =hLS | 5.00 ~ 6.00| 1.73 877
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.71 71.31 | NS | 000 ~ 0.00| 1.67 7.95 st 1.00 | 6.00 ~ 6.90 71.31 | #hS | 6.00 ~ 6.90| 1.567 7.95
3 100kN/mM%#BZ % — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.oo ~ 740 94.51 | #nS | 000 ~ 0.00| 1.77 8.96 st 1.00 | 6.00 ~ 9.60 94.51 | =hd4 | 6.00 ~ 9.60)| 1.77 8.96
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 741 94.55 | =nRS | 000 ~ 741\ 1.85 937 st 1.00 | 6.00 ~ 9.80 94.55 | ThLS | 5,00 ~ 980 | 1.85 937
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.80 85.94 | =nS | 000 ~ 0.00| 1.57 7.92 st 1.00 | 6.00 ~ 9.40 85.94 | =hS | 5.00 ~ 9.40)| 1.67 7.92
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
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100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
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zhst ~ Fhst ~ Fhst ~ zhLst ~
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zhLst ~ FhLst ~ FhLst ~ st ~
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